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ACHARYA VIDYA KULA
I ASSESSMENT - JULY 2018
CLASS: VIIT MAX MARKS: 20
SUBJECT: CHEMISTRY (SCIENCE PAPER 2) MAX TIME: 30 MIN
GENERAL INSTRUCTIONS
Answers to this paper must be written on the paper provided separately.
You will NOT be allowed to write during the first 5 minutes.
This time is to be spent in reading the question paper.
The time given at the head of this paper is the time allowed for writing the answers.
Read the questions carefully, follow the same system of numbering as given in the question paper.
The intended marks for questions or parts of questions are given in brackets [ ]

Question — 1

a) Write the correct answer for statement given below: [5]
(i) When iron reacts with copper sulphate solution, the displaced element is —
(i1) The salt formed when sodium hydroxide reacts with hydrochloric acid —
(iii) The precipitate formed when iron(Ill)chloride reacts with sodium hydroxide —
(iv) The products formed when potassium nitrate is heated —
(v) The products formed when solutions of potassium iodide and lead nitrate reacts

with each other —

b) Write the formula of each of the following set of compounds: [5]
(i) Sodium bisulphate & Sodium bicarbonate
(i1) Copper (I) oxide & Copper (II) oxide
(iii) Aluminium nitride & Aluminium chloride
(iv) Iron (II) hydroxide & Iron (III) chloride
(v) Calcium hydroxide & Calcium oxide

Question — 2
a) Complete the statement by filling in the blank with the correct words: [5]
(i) A double arrow between the reactants & products in an equation represents
R (decomposition / reversible) reaction.
(i) Thermal decomposition of a chemical compound is brought about by ---------
(light / heat)
(iii) Exothermic reactions proceed with ---------- (Evolution / Absorbtion) of heat
energy.
@{iv) -----—--- is Mercuty(I) chloride & -------- is mercury (IT)chloride (HgClL,/HgCl)
(v) Nitrogen & Hydrogen combines in the presence of catalyst Iron at 450° — 500%
gives ——--—m-mmmmmm- (Ammonia / Nitrogen hydorixde)
b) Balance the following equation: [5]

() Na+H,0 > NaOH + Hx

(i) Ha$ Oy + KOH > ,!<2SOLf +H,0
(iii) NH; + Cl, = N, + HCI

(IV) C+ HzSO4 9 C02 + SOZ + H20
(v) Al + NaOH + H,0 - NaAlO, + H,
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